@) communications

/
: MASTR Progress Line

POWER AMPLIFIER MODEL 4EFS5AT

g |
Sy gyl |

GI9€-197 lenuel adueusjuiey

SRR B POWER AMPLIFIER

Model Number 4EF5A1

FCC Type Number EF-5-A: Power Amplifier

Frequency Range 132-174 MC

Used With Exciter Type ET-57-A and Power Supply Type

EP-6-A, B to provide a 330-watt transmitter

Power Input 117 VAC, 50/60 cps
Standby: 2 amps
Transmit: 9 amps r'1
-
Power Output 330 Watts ’I
Tube Complement (1) 4CX250B or 7032/4CX250B i
| AM Hum and Noise Level Down 34 db
Rated Duty Cycle Continuous -- Blower recommended for cabi-
net ventilation under conditions of high
-4 ambient temperatures or continuous duty
operation.
Ambient Temperature Range -30°C to +607C (-22°F to +144°F)
y Dimensions (H x W x D) T3 LB ag: 1AM
Weight 30 pounds

*These specifications are intended primarily for the use of the serviceman. Refer to the appropriate Certified and Guaranteed Specification
Sheet for the complete specifications.

GENERAL (& ELECTRIC




LBI-3615

TABLE OF CONTENTS
SPECIFICATIONS . & & v v v v v o o o o o « v « o o o o o« o« o« o« . Page
DESCRIPTION . & v v e 4 e e 4 e e e 4 e« e 4« e 4« a o« o s o o « Page

CIRCUIT ANALYSIS

Output Power Meter . . . . . . « +« « &+ « « o « « « « « . . Page

Antenna Relay . . . . +. +v v v v v v « « « &« o « o « o « o« . Page
MAINTENANCE

Preventive Maintenance . . . . . . . . . . . .« « . . . . . Page

Power Amplifier Tube Replacement . . . . . . . . . . . . . Page

BIOWET & « +« 4 « o & o o o o & « « o « « o o 4« e o« . . Page
ALIGNMENT PROCEDURE . . . . . +« v « v « o « o« o « o o « « « « . Page
OUTLINE DIAGRAM . . . . . + v « 4 « 4 o« & « « o« « o« o o« « « « o Page
SCHEMATIC DIAGRAM . . . . . + v & « « & « &« & & o« + o o« « « .« . Page
PARTS LIST . . v v v 4 4 4 o o o o o+ o o« o o o o o v v o« o « . . Page

WARNING

No one should be permitted to handle any portion of the equip-
ment that is supplied with high voltage; or to connect any
external apparatus to the units while the units are supplied
with power. KEEP AWAY FROM LIVE CIRCUITS.

ii




LBI-3615

DESCRIPTION

General Electric Power Amplifier Model 4EF5A1 is a 330-watt ampli-
fier designed for use in fixed stations operating in the 132-174 mega-
cycle band, using an external exciter and power supply. The amplifier
employs a 4CX250B as a Power Amplifier tube, with forced-air cooling
provided by a blower mounted on the power supply. Standard RETMA rack-
mounting dimensions are used. The tuning controls most frequently used
are located on the front of the unit.

All the power connections, except the high voltage connection, are
made with a 6-pin plug from the front of the unit. High voltage is
brought to the plate at the rear of the plate compartment.

Antenna relay keying voltage connections are made behind the Output
Power Indicator, using screw connections. The RF drive connection is
made by an RG-58/U cable plugged into the exciter from the front of the
unit.

CIRCUIT ANALYSIS

Excitation to the Power Amplifier at P482 is fed to coupling loop
L482 and coupled to coil L484, which, with C481, forms the grid tank of
the amplifier. By adjusting the PA GRID control (C481), the grid tank
may be tuned to the operating frequency. Coil 1481 isolates RF from the
power cable.

Heater voltage on the Power Amplifier tube V481 may be varied on
the power supply chassis. C482, C483 and C484 are RF by-pass capacitors
and R481 is used as a screen RF de-coupling resistor. Built into the
tube socket, XV481, is a ring-type capacitor which is used as a screen
grid by-pass.

All input voltage connections to the Power Amplifier, except the
B-plus voltage connection, are made at P481 on the front side of the
panel. The 2000-volt B-plus lead is connected at terminal PO-2 located
in the rear on the plate cavity cover. (485 provides by-passing for the
B-plus and L485 is an RF choke. The plate tank is composed of C488 and
L494. The plate tank is tuned to the operating frequency by adjusting
the PA PLATE control C488.

plate coupling loop to the output loop. The filter consists of L490,
L491, L492, L493, C492, C493, 1494 and C495. Antenna coupling is adjust-
ed by the PA ANTENNA control C489. The signal is fed from the filter to



LBI—3615 CIRCUIT ANALYSIS

J481. The signal from J481 is connected to the antenna through Pl and
P2 on the Reflectometer and through the contacts on the antenna relay
K482. (496 and C497 are neutralizing divider capacitors in series with
the Neutralizer.

All input voltage connections to the Power Amplifier, except the
B-plus voltage connection, are made at P481 on the front side of the
panel. The 2000-volt B-plus lead is connected at terminal PO-2 located
in the rear on the plate cavity cover. C485 provides by-passing for the
B-plus and L485 is an RF choke. The plate tank is composed of C488 and
the transmission line section formed by the inner and outer boxes of the
plate cavity. The plate tank is tuned to the operating frequency by ad-
Jjusting the PA PLATE control C488.

Adjusting the PA COUPLING control varies the coupling from the plate
to the output by controlling the amount of magnetic flux linking the
plate line to the filter line. L483 couples energy from the PA FILTER
cavity to J481. The signal from J481 is connected to the antenna through
Pl and P2 on the Reflectometer and through the contacts on the antenna
relay K482.

Output Power Meter

The Output Power Meter (Reflectometer) indicates forward and reflec-
ted power output when used with a 0-3 VDC meter (use external probe from
meter switching unit).

The probe samples the magnetic field caused by current in the trans-
mission line and the electrical field from the voltage on the line. On
a properly matched line, these two voltages are equal and cancel each
other when reading REFLECTED power ("O" reflected power). When the
probe is rotated 180°, these two voltages add to indicate FORWARD power.

When the load is not matched, these two voltages become unequal and
provide a ratio of incident (forward) to reflected power. Any signifi-
cant change in this ratio (if other than 1:1) after initial installation
and check out, should be cause for examination of the antenna and feed
line. Actual V.S.W.R. as measured on a calibrated bridge, should remain
below 1.5:1 at all times.

Antenna Relay

K482, the antenna relay switches the antenna from the receiver to
the transmitter when the transmitter is keyed.

MAINTENANCE

Preventive Maintenance

To obtain optimum performance from the equipment, a program of
regular preventive maintenance should be followed. This preventive main-
- tenance should include the following:




1.

4.

5.

MAINTENANCE LBI-3615
A check of the operating frequency as required by the Federal
Communications Commission.

A check of the PA PLATE current, Power Amplifier GRID current
and PA PLATE voltage meter readings.

A check of the PA plate tuning and reflected power (if any) and
realignment if improper operation is indicated.

A check for loose nuts, screws, cables and parts.

An inspection of the high- and low-voltage connections.

Power Amplifier Tube Replacement

To remove the Power Amplifier tube, proceed as follows:

1.

S.

Remove the high-voltage lead from PO-2, located on the rear ot
the Power Amplifier.

Loosen the winged screws holding the rear cover plate to the
assembly.

Slide off the rear cover plate.
Insert the prongs of the tube extractor (included with the
station equipment) between the cooling fins of the PA tube

plate,

Pull the tube straight out from the socket.

To reinsert the Power Amplifier tube, proceed as follows:

1.

Blower

Insert the prongs of the tube extractor between the cooling fins
of the PA tube plate. ~

Push the PA tube all the way into the socket while observing
the key on the tube and socket. The tube extractor may be
left on the tube cooling fins.

Replace the rear cover plate of the Power Amplifier.

Tighten the winged screws on the rear cover plate.

Replace the high-voltage lead to PO-2 on the rear of the
Power Amplifier.

The blower motor bearings are to be lubricated every 2000 hours of
operation. A small o0il can for this purpose is mounted on the power
supply chassis, at the right of the blower motor. Use the oil recom-
mended in the Parts List. (See Parts List on back of Schematic Diagram.)




ALIGNMENT PROCEDURE

This Bench Alignment Procedure is provided for completely ve-aligning and loading Power Amplifier Model 4EF5A1, using
¢« the ET-57-A as an Exciter unit.

Before tuning the Power Amplifier, the Exciter must he aligned according to the ALIGNMENT PROCEDURE.

1. Connect the antenna or some other suitable 50-ohm load to the top jack on the Power Amplifier ancenna relay.

2, Turn the PLATE switch OFF on the PA Power Supply.
3. Turn the SCREEN adjust on the PA Power Supply fully counterclockwise,

Note - If it has not already been done, remove (use F502 from the EP-38-A power supply. This
will limit plate voltage on the ET-57-A to 300 volts, which is proper for exciter service. .

4., Place the power switches located on the Control Panel and Exciter Power Supply EP-38-A to the ON position.
Turn the PA Power Supply CONTROL switch to the ON position. Allow 15-minutes for warmup.

5. Connect a microphone to the MIKE jack on the Exciter Power Supply.

6. Pull the PA COUPLING control out to its limit. Turn control clockwise until it engages with the coupling
window. Push control in all the way to its back limit. Withdraw control approximately 1/4-inch from the bhack limit.
Connect the red lead from meter switch panel to grid jack (J452-green on PA power supply) and rotate switch to external
probe.

7. While keyinyg the Exciter, tunc the PA GRID flor maximum PA GRID current at the GRID jack. A reading of 2.5-volts
(25-ma of grid drivel shonld be obtained on the TUNING METER. 1If the reading is low, refer to the TRANSMITTER ALIGNMENT

PROCEDURE for the Exciter.

8. Turn the PLATE switch on the PA Power Supply to the ON josition.
9. While keying the Exciter, adjust the PA PLATE control for a minimum reading at the PA PLATE current meter.,

10. Connect the red lead from the Meter Switching Panel to the jack on the front of the PA OUTPUT METER. Rotate
OUTPUT METER to the FORWARD position,

11, While keying the Exciter, adjusl the PA FILTER for maximum meter reading at the OUTPUT METER jack.
12. While keying the Exciter, increase the SCREEN control clockwise to a maximum of 200 ma.

13. While the Exciter is being keyed, pull the PA COUPLING a small amount, to a maximum of 250-ma at the PA PLATE
current meter,

14. While keying the Exciter, readjust the PA PLATE control for minimum reading at the PA PLATE current meter.

15. Repeat steps 11 through 14 above until the licensed power output or power iuput is reached. Do not exceed
250-ma of PA PLATE current.

16. Neutralizing:

a. Turn the PLATE switch OFF on the PA Power Supply.

i
:
i
b. Turn the Power switch OFF on the Exciter Power Supply. i
;
¢. Block the contacts closed on the PA antenna relay (use a piece of tape to hold the contacts) . 3
i
d. Disconnect the antenna cable from the ANT jack on the PA antenna relay. %
4
3
e, Disconnect the PA input cable from the output of the Exciter. §
é
f. Connect a short coaxial cable from the ANT jack on the Exciter to the ANT jack on the PA antenna relay. g
CAUTION

Failure to have the PLATE switch in the
OFF position when performing step 16g
through 16k below, can result in damage
to the equipment.

. The Exciter output will now be feeding into the Power Amplifier output for neutralizing the PA .
h. Turn the Exciter Power gwitch ON. Do not turn on the PLATE switch on the PA Power $upply.

i. Connect a lead from the TUNING METER to the GRID jack J452-green, located on the PA Power Supply.
j. Adjust the PA Grid, PA Filter and the Exciter output for maximum PA Grid current.

k. Using an insulated tuning tool, adjust the NEUTralizer adjustment (located under the plug button on the front
of the Power Amplificr unit), for minimum PA Grid current.

1. Turn the Power switch OFF on the Exciter Power Supply.

m. Open the rear door on the Station cabinet, remove the block from the relay contacts, disconnect the coaxial
cable, replace the PA antenna cable and replace the Exciter output cable.

n. Close the rear door.
17. Turn the Exciter Power Supply Switch ON.

18. Repeat steps 3 through 15 above until no further gain can be obtained. Do not exceed 250-ma of PA PLATE current

19. Carefully turn the PA COUPLING control counterclockwise to disengage it from the internal coupling window. Push
the PA COUPLING control in to its back limit.




¥ —-8-d3 3Fdal

TOMLNDD Alddns Hamod

awvo AFEad

m._..q._n_ ...._”._____b amm_m_ u_w:. .__

ok -Fr - — | _L E

¥-5-43 3d4Al
HIHITdWY  d3IMOd

f‘L_| [ = — -

0 m L i E:..._ wd
b P NENos
- W |l ! A w
; 1 v/
1 uamod 32 FEIRTER T mE._.“_ W
Ln=ng © _.m_ &
| T AM3HHND aogins D
FETEL] E.EEP FRLRERT Siwid wa T H3LIH ONINGL
_ o ] a o
w. Nl
—_

21419313 TVHINID

'|'I

e L MEIA TEILHYS

1,
|__ _f..
pr—
H1lWE
+ @# + 1@
| o
a o zapH
] L
+ o+ @ =
IR EL = ._
234 -

Akt




LBI-3615

“—REF DCTHMETER

|
I
i
=
INMER
CONDUCTOR i
PL
MO CARE T
INNER
[ CONDUCTDR
EARE o} le- SHAFT
N L -1
LI
ol
]
& = Kv 48| |P|:m '-EEH
= I
g™ fl sTun i) L R
E o |h- ¥ o= A Cdg
. b! i

I [T 3 jcasi | -;;T;"_":-; i

| EN = 7
IR MG o L] BURING SHOF T ;

| e . BEAD < T-2g " B..G/_I:i [

| CHAIN SHAFT —

5 Bl o

| S

e —— : P e s |

SPROCKET 7 mEUTRALIZING l £48
i ; - =
SHAFT P GRID P& PLATE PA COUPLING Eh AMTEHHA al WER

ALIGNMENT PROCEDURE
OUTLINE DIAGRAM
132 — 174 MC, 330-WATT

MASTR POWER AMPLIFIER
MODEL 4EFS5A1

4

Is=sue 1

&

(D-5498034,

!

¥ e

W e I

R e, . [ b | R T e S

E&I

il i

.

i o i ) A



KABLE PRODUCTIOM CHANGE |
N INSTRUCTHON BOOW SECTION
wiTH THIS UNIT, FOR DES - |
OF CHAMGES UNDER EACH ‘
LETTER.

ELEM DIAG APPLIES TO |

IN ORDER TO ARETAIN RATED EQUIPMENT
PERFORMANCE, REPLACEMENT OF ANY

LBI-3615

REY LETTER
P A SERVICE PART SHOULD BE MADE OMLY WITH
A COMPOMENT HAVING THE SPECIFICATIONS
£ | |sMOWN ON THE PARTS LIST FOR THAT PART
T

L]

1

o

w1

0B | c4BB

RCA

GRID
CAVITY

12.4,6,8

REFLECTOMETER

KE4 8|

e | e — |

TN

I%

FILTER

I
|
l
|
|
1
|
|
|
|
|
|
|
|
!
!
|
|
|
I
I
:

CAVITY

FPLATE

——

P A PA
COUPLING FILTER

SCHEMATIC DIAGRAM

132 — 174 MC, 330-WATT
MASTR POWER AMPLIFIER
! MODEL 4EF5Al

Issue 1 5

—ﬁ



SEE ap
SHEETS
DEALIN
CRIPTI]
HE"HISFE
THIE
MODEL
4EF5
PO#2 L48S
cd
188 = J
C487
PLATE CAVITY
V 4 8|
XV 4
7l 4CE 2% 08
RC4BE TEOS 40K
NEUTRALIZER A EMAE OF
FaBl j[ H_ﬂl TI GR_IE
a4 C45E I i
. cand 5T A
2 000 T A48l =7 Lass, ol
4 cass T =1
' | 000 c48l L4584
3.2-12 | |2
! I
Z2 casz L ( Lesz ||| 5
4 1000 1 [ FIL
] {I. 1
L] e
| =
Fagz

L




t-“
)
—
|
1
=1
iEs
-
[

DEXNCH ALTGRMEXNT PROCIEINIILL
FOL
POWHRE AMBELIRIER WODEL GLFSAL

This Beneh Alisoment Proccdare is proviaged Tor comploiaoly vo-
aligning and loading Power Anplifier Mode]l 4EFPRA], weslng an boxoi Led
unit, T Lune and load full power 1o thoe anlenni. the geld, plate
Angd anlenna civeuiis ol Lhe Powcer Amelilicre aest he adjusvod oz
foilows,

ALTIGERMENT PROCEINIRE

Before tuning the Power Applifier, The Exciter multipllo:
stapges must he atigned accordine to the nrocoedure in Lhe SERVICE
OUTLINE or thoe BENCH ALIGVMENT PROCEDIRE for the Exciter. it 1l
excliter i to be used in conjunction with the 4EP4Al cxCclior po%ar
supply, Jumper must be connected from TRE-Z2 to TR1O0-1.

1. Connect Lhe antenna or some olher suitable S -ohm lood Lo
the top jack on the Power Amplifier antenna relay.

2. Turn the PLATE switch OFF on thoe PA Powel Supply.

4. Turn Lhoe SCHEEN adjust on the PA Power Sudply fully
counterclockwise.

4. Place the power swiiches localed on the Control Paned
Exciter Power Supply and RBeceiver Power Supply to fthe ON position,
Turn the PA Power Supply CONTROL switeh Lo the ON position, Allow
15-minuics for warmup. |

5. Connect a microphone to the MIEKE jack on Lhe Exoiter
FPower JSupply.

. Pull tuc pA COUPLING control out to its Timic.  Turn
control ¢lockwise until 1t enpgages with the coupliog wioaow . PSP
conlrol in all the wiy Lo fis back limal.,  Withdreaw control appross-
imately 171-inch From Lhe back Pimit,

7. wWhile weving the FPxoitoer . Lunce [he PA GRID Toc maximuamn
PA GRID cureenl at Lhe GRID jacs (J3152-pveen locatoed on Lhoe PA
Fower Supplvy. A reading of 2. 0-volits 20-mi ol wrid deive) sheoid
be obtained on thoe TUNING METER, il Lhe zoadiog is low, vcofcy Lo
the TRANSMITTER BENCH ALTNGKUEWT PRMIEDURE.

B, Turn the PLATE swilch aon the BPA Dower =upply we Do O
posillon.




EBI-41746B POWER AMPLIFIER BENCH ALIGNMENT PROCEDURE

9. While keying the Exciter, adjust the PA PLATE control for
2 minimum reading at the PA PLATE current meter.

10.  Connect a lead from the TUNING METER to the jack on the
front of the PA OUTPUT METER. Rotate OUTPUT METER to the FORWARD
position.

11. While keying the Exciter, adjust the PA FILTER for maxi-
mum meter reading at the OUTPUT METER jack.

12. While keying the Exciter, increase the SCREEN control
fully clockwise.

13. While the Exciter is being keyed, pull the PA COUPLING
a small amount, to a maximum of 250-ma at the PA PLATE current
meter.

14. While keying the Exciter, readjust the PA PLATE control
for minimum reading at the PA PLATE current meter.

15. Repeat steps 11 through 14 above until the licensed
power output or power input is reached. Do not exceed 250-ma of
PA PLATE current.

16. Neutralizing:
a. Turn the PLATE switch OFF on the PA Power Supply.
b. Turn the Power switch OFF on the Exciter Power Supply.

C. Block the contacts closed on the PA antenna relay
(use a piece of tape to hold the contacts) .

d. Disconnect the antenna cable from the ANT jack on
the PA antenna relay.

€. Disconnect the PA input cable from the output of
the Exciter.

f. Connect a short coaxial cable from the ANT jack on
the Exciter to the ANT jack on the PA antenna relay.

CAUTION

Failure to have the PLATE switch
in the OFF position when per-
forming step 16g through 16k
below, can result in damage to
the equipment.




5211

POWER AMPLIFIER BEWCH ALIGNMEFT PROCEDURE EBI-41746%
g. The Exciter oulput will now be Yeeding intc the
Power Amplifier outpatr foir neutralizing the PA.

h. T™arn the Exciter Power switceh ON. Do not turn
on the PLATE switch on the PA Power Supply.

1. Copnest o lead “eom the TUNING METER to the GRID
Jack J452-green., lecated on the PA Power Supply.

J. Adjust the PA Grid. PA Filter and the Exciter out-
put for maximum PA Grid curvent.

k. Using an ipsulazed funing tool, adjust the NEUTra-
lizer adjustment {(located under the plug button on the front

of the Power Amplifier unit), for minimum PA Grid current.

1. Turn the Power zwirtch OFF on the Exciter Power
Supply.

m. Open the rear door on the Station cabinet, remove
the block from the relay wontacts, disconnect the coaxial
cable, replace the P4 antenna cable and replace the Exciter
output cable,

n. Close the rear coor.

17 . Turn the Exciter Poweyry Switch ON.

18. Repeat steps 3 through 15 abeve until no further gain

can be obtained. Do not exceed 250-ma of PA PLATE current.

19. Carefully turn thce PA COUPLING control counterclockwise

to disengage it from the internal coupling window. Push the PA
COUPLING control in to its back limit,

¢

COMMUNICATION PRODUCTS DEPARTMENT
GENERAL ELECTRIC COMPANY
LYMCHBURG ., VIRGINIA

Printed in U.S.A.







EBI-41746C

BENCH ALIGNMENT PROCEDURE
FOR
POWER AMPLIFIER MODEL 4EF5Al

T1is Bench Alignment Procedure is provided for completely re-
2iigning and loading PowerAmplifier Model 4EF5A1, using an Exciter
unit. To tune and load full power to the antenna, the grid, plate
ard antenna circuits of the Power Amplifier must be adjusted as
foilows.

ALIGNMENT PROCEDURE

Before tuning the Power Amplifier, the Exciter multiplier
stages must be aligned according to the procedure in the SERVICE
OUTLINE or the BENCH ALIGNMENT PROCEDURE for the Exciter. If the
exciter is to be used in conjunction with the 4EP4A3 exciter power
supply ., jumper must be connected from TB2-2 to TB10O-1.

1. Connect the antenna or some other suitable 50-ohm load to
The top jack on the Power Amplifier antenna relay.

2. Turn the PLATE switch OFF on the PA Power Supply.

3. Turn the SCREEN adjust on the PA Power Supply fully
counterclockwise,

4 Place the power switches located on the Control Panel,
Exciter Power Supply and Receiver -Power Supply tc the ON position.
Turn the PA Power Supply CONTROL switch to the ON position. Allow
15-minutes for warmup.

o, Connect a microphone to the MIKE jack on the Exciter
Power Supply.

6. Pull the PA COUPLING ccntrol out to its limit. Turn
control clockwise until it engages with the coupling window. Push
control in all the way to its back limit. Withdraw control approx-

imately ls/4-inch from the back limit.

7 While keying the Exciter, tune the PA GRID for maximum
PA GRID current at the GRID jack J452-green located on the PA
Power Supply). A reading of 2 5-volts (25-ma of grid drive’ should
be obtained on the TUNING METER If the reading is low, refer to
the TRANSMITTER BENCH ALIGNMENT PROCEDURE.

3, Turn the PLATE switch on the PA Power Supply to the ON
position




FEI-41746C POWER AMPLIFIER BENCH ALIGNMENT PROCEDURE

9 While keying the Exciter, adjust the PA PLATE control for
» minimum reading at the PA PLATE current meter.

10. Connect a lead from the TUNING METER tc the jack on the
trent of the PA OUTPUT METER. Rotate OUTPUT METER to the FORWARD
position

11, While keying the Exciter, adjust the PA FILTER for maxi-
mum meter reading at the OUTPUT METER jack. '

12. While keying the Exciter, increase the SCREEN control
clockwise to a maximum of 200 ma.

3. While the Exciter is being keyed, pull the PA COUPLING
a small amcunt, to a maximum of 250-ma at the PA PLATE current
merey.

14, While keying the Exciter, readjust the PA PLATE control
for minimum reading at the PA PLATE current meter.

15. Repeat steps 11 through 14 above until the licensed power
cutput cor power input is reached. Do not exceed 250-ma of PA PLATE
current,

16. Neutralizing:
a. Turn the PLATE switch OFF on the PA Power Supply.
b. Turn the Power switch OFF on the Exciter Power Supply.
C. Block the contacts closed on the PA antenna relay

{use a piece of tape to nold the contacts).

d. Disconnect the antenna cable from the ANT jack on
the PA antenna relay.

e. Disconnect the PA input cabie from the cutput of the
Exciter.

t Connect a short coaxial cable from the ANT jack on
the Exciter to the ANT jack on the PA antenna relay.

SU67. 1l 1) o)) S ———

Failure to have the PLATE switch
in the OFF position when perfor-
ming step 16g through 16k below,
can result in damage tc the equip-
ment .

o



5152

POWER AMPLIFIER BENCH ALIiGNMENT PROCEDURE EBI-41746C

o, The Exciter output will now be feeding into the Power
Power Amplifier output tor neutralizing the PA.

h. Turn the Exciter Power switch ON. Do not turn on
the PLATE switch on the PA Power Supply

i, Connect a lead from the TUNING METER to the GRID jack
J452-green, located on the PA Power Supply.

J. Adjust the PA Grid, PA Filter and the Exciter output
for maximum PA Grid current.

k. Using an insulated tuning tool, adjust the NEUTrali-
zer adjustment (located under the plug button on the front of
the Power Amplifier unit), for minimum PA Grid current.

1. Turn the Power switch OFF on the Exciter Power Supply.
m. Open the rear door on the Station cabinet, remove the

block from the relay contacts, disconnect the coaxial cable, re-
place the PA antenna cable and replace the Exciter output cable.

n. Close the rear door.
17. Turn the Exciter Power Switch ON,
18. Repeat steps 3 through 15 above until no further gain can

be obtained. Do not exceed 250-ma of PA PLATE current.

19. Carefully turn the PA COUPLING control counterclockwise to
disengage it from the internal coupling window. Push the PA COUPLING
control in to its back limit.

COMMUNICATION PRODUCTS DEPARTMENT
GENERAL ELECTRIC COMPANY
LYNCHBURG, VIRGINIA

Printed in U.S.A.






&
<)

/Sha
3
85"
" ¥
-
o

¢
41
7







= -
?_ ceneraL () ELECTRIC |

e =T ==
|—__1 [_ 11 /| i ;

\ PN | | wmopice ! | [
N\ \ JCOMML NI CATION] ]
'Lo—i A 1 . EQUIPMENT y o e i
_ ) ] i 2 L | ‘

. i S N —

TUNING METER PA PLATE PA PLATE orunmu METER
m ) ILTAG CURRENT/D) |

RN *Ren VOLYAGE s 10 *op |

FOWER AMFLIFIER
TYPE EF-5-4

C
| |
_— b |
PLATE CONTROL [
ON  SCREEN
® [1 f__:l /
el G- FiL  SCREEN | L~ |
) ©o\o 0 o L~
T - S ..091{4_7 = P | |
( ) O O > 7 ]
TIME GRID OVER PLATE i ST e
DELAY LOAD \ ““-m.._\\ -
s
c_ \__
CONTROL e |
POWER SUPPLY Wi e
TYPE EP-6-A /‘"\. |
S _< o
POWER SUPPLY - \ S ‘
TYPE EP-4 A S
< Lt
B

/

——
[ / T

[;’EXCITER

__{RF POWER
TYPE ET-21-A =

a INDICATOR

— = — — - = L —




TMPLTETRD ALFONMENT PROCEDENE

Ve anbendeet for tun: The L0owatt Power Amplifier. L0 the Power Amplifier 1 badly
) By ot The Bxelter ae o e dhanged, refer teothe complete PORLE AMPLIE TRR HENCH ALIGNMENT
A poalipement procedure aut bt below s foltowed, the mulirplier stiges of the Exclter must
e Trons Lo alignion the bxolter are La baded oo the SePvloc Outliae tor the uoat (see Table of
WORDIMINARY DN G
) W5 T et o otner sultable Sheonm Joad G the AND jack on e Power Ampdofre
L e tne cryntadb baoonnected belweesn pins boand hoof crvntal Ret SYIO1 {Channed Booryeta)
Bedwern pree 2 sl 6o tor fwo Leeqnency operal Gand,otn fhe b pter
Turs the Plate hwiton Gk,
Lo Then e WEEN control s the PA Power Supplv fullvooounterc Lo Kwe e
Jura Power vt sl low 4 or 4 minutes tor warang
Boed U ma rapaone 1o the MIKL juark o EXCater dower supplv,
o PnlL the PA CORPLING controd OUT 1o 1t fimit, Tura cont el clockwise untilo it ooy the

aplimg ¥idow,  Push o control IN to Dt back limy b, Withdraw contral approximate by 1ot

4 Mt TER

TENING ONTROL, MRTRH NG KEAL TNG PROCED UL
ATH PA (on b ovaits Lo Uheck Lor sdrive of . oA
faciter) Jack on thi Exciter. [t reading Tt
FIOG red Lo Bxciter Hesoh Altinment Procedurs,

A GRID (o PA Mu x i mum While keylag the kxciter, tune the PA GRID
Power Supply) tor o maxuveun (7 Lo 25 ma) ceadiag of 007

- = [ERVETE TR Lo 2.5 volts,
4. Turn the PLATE switch o the PA Power Supply
to the ON position,
PAPIATE DA PLATE Minan tooWnle keyioe ¢, tuue tne PA PLATE

P URRENT contral tor
. VA R ILTR DETPIT POWER Mok mum ro Whale Keyin. Une Fxoater | tune the PA FILTER
o tor maximum,
PeN DLATE 2 ma Anile keyine the baciter, adjust the
TRRENT M X Comtrol tor g maxamas o1 2000 qa,

VA ChUPLING

o Pull the PACOUPEING trol e smal
(200 ma waximam), whils Kewing the

TAPTA HooWhle Keyiug the Bacgtey the
tar mial
vy OUTPUT DR L RIRTRE oW e keyiog Xerter, T SUHLEN
% ma Cestent Tor mavimin fupy At aainnm
DA PLATE Tatecurn
HREENT
— GITPUT POWER Mo DL Repeat stonn T throwen boameve wntidon
further gaae tanned .
GHID (o PA Powes Mo e Pl burn Plate switon obEL* ihmconnect Output
ier gy cabile from Sxciter. Discounect Adtoana
T = = ANT TisiNg F R R catile from the ANT ok on the A ten
_ Feday, oanedt a coaxial cable between tne
A — — Eaoiter Outpnt and tue ANT jack on the PA
\\ @ relay ] Fape cootacts cdosed oon the
Stenna relay. tune PA GRID, P& 11LTh
AN " KCLter OUTPUT ad tustments (nse asila ted
\ Catnr tool) bor smaximam meter readia,
. . | . . R - R —
R Man B tane NRUT mijustmeat (uee insulated tuniog
toa ) Ler maninwm nefor reading
1 Noldieg reiay Lontacts, +
ahYel Heplace PA it
stput catole
~ R } . N s
T~ TS o Mo Ui Tara Plat awater n
Dobeeve until i
i LR 1.
L 1 - - B

[T G U B L R R O PR er]

MiTer b,

TEOTGOMAVE CTHE RLA L mR LI I
GEFTOPUIITION SOTL PUEFORMING
1 e

AFUVE AN ik

Service Qutline

144-174 MC POWER AMPLIFIER
MODEL 4EF5A1

(RC-478)




20121

LBI-3251

PRODUCTION CHANGE SHEET
FOR
POWER AMPLIFIER MODEL 4EF5A1

Changes listed below are identified by the letter appearing
in the REV pad on the unit chassis.

REV A - Purpose - To increase the ability of the output filter to
withstand nearby lightning discharges.

Change - The dimensions of the capacitor plates and the
teflon insulators in the output filter were changed to
permit the use of higher voltage insulators between pass-
through bolt and ground.

COMMUNICATION PRODUCTS DEPARTMENT
GENERAL ELECTRIC COMPANY
LYNCHBURG, VIRGINIA

Printed in U.S.A.







Fiit UNDER

e
£

TRANSMITTER
POWER AMP

jeal
(@]

F-
0

-A
BULLETIN NO
-1

BULLETIN

W
Pt

..

| B April 1961
C492 THRU C495 REDESIGNED TO RESIST LIGHTNING DAMAGE

WHAT? Revision A of Power Amplifier EF-5-A increased the voltage
rating of the capacitors in the output filter (C492, (495,
C494 and C495), by changing the dimensions of the capacitor
plates and Teflon® insulators to permit the use of higher
voltage insulation between the pass-through bolts and
ground .

Whenever one of these capacitors is replaced, it 1s recom-
mended that the new type capacitor be used as a replacement.
Replacing any of the capacitors in amplifiers earlier than
Rev. A requires enlarging the mounting hole to 1/2 inch
diameter,

WHY? The voltage rating of capacitors C492, €493, C494 and C495
was increased to withstand the voltage surges resulting
from nearby lightning discharges.

HOW? To replace any of these capacitors in amplifiers earlier
than Rev. A, order all of the parts for that capacitor
marked with an asterisk (*¥) on page 2 and any additional
parts which have been damaged. It will be necessary to
drill and ream the mounting holes for C492 or C495, if re-
placed, to 1/2 inch diameter. Be sure to remove any metal
chips which fall into the amplifier. It is also recommen-
ded that any bare metal exposed by the drill be coated with
lacquer or Glyptal® to prevent corrosion.

For amplifiers of Rev. A or later, only the damaged parts
need be ordered.

COMMUNICATION PRODUCTS DEPARTMENT, GENERAL ELECTRIC COMPANY, MOUNTAIN VIEW ROAD, LYNCHBURG, VIRGINIA

ECP-80



DATAFILE Bulletin 3061-1

Symbol

Number Description Quantity G-E Part Number

C492 Capacitor, Feed-Through:
¢ Machine Screw: #6 1x N81-P13016
¢ Aluminum Plate 1x* A-4026692-P1
¢ Teflon® Plate 1* A-4029691-P1
* Nvlone Washer 1* A-4035237-P1
® Plain Washer 1* N401-P41
* Bushing 1* M-7479752-P11
¢ Fiber Washer: #6 1* A-7872492-P1
* Nuts: #6 2 N207-P13
* Terminal 1 A-7135118-P2

193 Capacitor, Stand-Off:

v

4494 ¢+ Angle 1% A-4029887-P1
¢ Machine Screws: #4 2 N81-P9010
¢ Lockwashers: #4 4 N414-P11
¢ Plain Washers: #4 4 N401-P5
e Terminals 2 A-7135118-P1
# Aluminum Plates 2% A-4029886-P1
» Teflon Plates 2% A-4029889-P1
+ Nylon Washers 2% A-4035237-P2
o Nuts: #4 2 N207 ~-P9Y

495 Capacitor, Stand-Off:
e Machine Screw: #6 1 N81-P13016
¢ Plain Washer: #6 1* N401-P67
s Nylon Washer 1* A-4035257-Pi
¢ Teflon Plate 1* A-4029691-P1
¢ Aluminum Plate 1x* A-4029692-P1
¢ Terminals 2 K-78753267-P1
e Bushing 1 M-7479752-P11
¢ KFiber Washer: #6 1 A-7872492-F1
® Nut: #6 1 N207-P13



DATAFILE Bulletin 3061-1

FIG.| -PARTS BREAKDOWN: C492 THRU C495

TEFLON®F'LATE

BOX

Gl

LXK

X EERE

o lelel

ALUMINUM
PLATE

30

.
Tatatat

5
I..
\\\\\\\\\\

RN
I— angggggnlnnn
[ \\\\\.

PR

WASHE\

#6 SCREW/ '

NYLON
WASHER

B K R

Qnuununununuuunuj
\\..\T\\\\\\l\ \\\ o —

PLAIN WASHER

BUSHING

\TERMINAL <] C492

# 6 NUTS (2)
% SHER
i : m_OHNER FIBER WA
% TERMINALS (2)
#4 L' WASHERS (4)
#4 SCREWS (2) # 4 PLAIN WASHERS (4 )
ALUMINUM
O / PLATES (2)
C493 e —————TEFLON
AND ERSNERE :.1..-.? I""Z‘.::;f“‘o pLATES l2)
. ANGLE
C494
NYLON  WASHER
#4 NUTS (2)
TEFLON PLATE
/ ALUMINUM PLATE
PLAIN / TERMINALS (2)

FIBER
/ WASHER
S NN

<] C495

TS#6 NUTS

BUSHING

CHASSIS

BOX

RC-700




-
w
s
i
B
P
e
i
™

INSTRUCTIONS
FOR
POWER AMPLIFIER
MODEL 4EF5B2

The General Electiric . Power Amplifier Model 4EFOBZ haw
been designed fop use in stations operating in the 144 to 174 MC
band. An external oxciter :s requirved for driving the amplifier
A power supply is provided for external mounting. The amplifier
smplovs a 4CXZ50-B tube as the final amplifier stage, with foreed
air cooling provid by a blower mounted on the power supply.
Standard 19-inch relay rack mounting is employed for the amplitier
and its power supp Tuning controls are located on the front
panel of the amplay

This power anmplifier 1s exciter keyed. Only when RE i3 presan
i ] ' & will the power amplifier be keved on to

P - o WY N
BY AND POWER CONNECTIONS

All power conneciions (excopi the high voltage) are made
ough a six-conductor cable cennected between the power supply

1T
and a plug (P481) on the front panel of the amplifier

- High voltage for the amplifier plate is supplied to a feed-
through coupling (PUO-2) at the rear of the plate compartment.

RF drave i1s connecied between the exciter and a plug (P482) on
front of the unit by an BG-58/U coaxial cable,

PREVENTIVE HAINTENANCE

To obtain rated cquipment performance, a program of regular

preventive mainfenance should be followed. Frequent checks oi the
up@rutlng frequency should be made as required by the FCC. Che
the PA PLATE current, GRID current and PA PLATE voltage. Check !
loose nuts, screws and damaged components. Inspect all power and
RF ca blos and copnectors for damage.
4CX250 POWER AMPLIFIER TUBE REPLACEMENT
A, To remove the power amplifier tube from its mounting, procsed
as follows:
{»:ﬂ
L 1. Hemove the high voltage lead from PO-2 located on the rear

of the plate compartment

2. Loosen the winged screws holding the rear cover plata
assenbly .



LBI-8352 MODEL 4EF5B2 POWER AMPLIFIiER

3 Slide otff the rear cover plate assembly
4 Insert the prongs of the tube extractor supplied with the

+
equipment between the cooling fins of the tube.

5. Gently pull the tube straight out from the socket
13 To insert the tube in its mounting, proceed as follows
1 insert the prongs of the tube extractor between the cocl-

2 X
ing fins of the tube.

2 Push the tube all the way into the socket.
3 Replace the rear cover plate assembly and tighten the

winged screws.

4 Connect the high voltage lead to PO-2 ou the rear of the
PA .

BLOWER MAINTENANCE

The bplower motor bearings are to be iubricated every 2000 hours
of operation. se Gulfcrest A (WCR) electric motor and gencrator
low viscosity oil. Do not allow c¢il to get on the impeller blsdes.
i{ the blades become coated with o0il, they should be removed, washed
ir a grease solvent and hot water. thoroughly dried and replaced

CIRCUIT DESCRIPTION

Excitation is fed to the power amplifier through P4382 to the
coupling loop L482 and coupled to Coil L484 which, with C481 forms
rid tank circuit of the amplifier By adjusting the PA CGRID
. (C481), the grid tank is tuned to the operating irequency.
14481 isolates RF from the power cable.

Heater voltage for V481 may pe varied inside the control box
orr the power supply chassis C482 (€483 and {484 are RF by-pass
capacitors. R481 is used as a screen decoupling resistor. Buiit
iteto the tube socket is a ring type capacitor which serves as the
screaen by-~pass.

C496 and (C497 are neutralizing capacitors in series with the
neutralizing adjustment. C485 provides RF by-passing for the B-PLUS
and L4855 is the RF choke in the plate supply The plate tank is
composed of (€488 and the transmission line section formed by the
inner and outer cages of the plate cavity. 7The plate tank is tuned
t¢ resonance by adjusting the PA PLATE control (488




MODEL 4EF5B2 POWER AMPLIFIER LBI-8352

sting the PA COUPLING control varies the coupling between
tank and the output of the amplifier by controlling the
ot magnetic flux linking the plate line and the filter line
enuples the energy from the PA FILTER cavity to the output
connector J4¥1L.  The signail at J481 is connected to the station
antenna through the variable attenuator.

Hi® PROBE CIRCUIT

The RIP probe circuit consists of L48Y, L488, R482. R483, CR4YIL.
CRA8Z and £489.  L489 is the RF pick-up loop which feeds part of
Lhhe RE energy present in the output circuit to the input of the RF
probe detector. This RF energy is then rectified and a pos:itive DC
ouaiput is applied to an external RF Level Indicator. The RF Level
{ndicator is actuvated when the power Output exceeds 125 watts.

COMMUNICATION PRODUCTS DEPARTMENT
GENERAL ELECTRIC COMPANY
LYNCHBURG, VIRGINIA

o
w0
ja

Printed 1in



Jobi S
"t
Ry
'
{
|

Laas °
L Y AN
PR & :
LD §
F 00 :
b : .

-
>

P4y

;4 | !

|« L :
3
L .
T

! > CRID
| " e Ty |
v . i AN !
; 2 e Cadz & #in SN i3 & :
R 1000 Y =« S S ‘
‘: I
f !
: : —

| 1 ! P A
! L . i COUPLIN

i i
i 1

[PERFORMANCE SNE R A EME RN P ANY
P SERVICE PART i, ! HE O Mot

ACCOMBONENT  sfy NG Tad e

NG DRUDER T W AN WO T FOUTPMERNT

APACHT ;E‘ CROMICROFARADS
, | UNLESS FULL‘JWED H! J‘ MICROF ARADS

DSHOWN O THE SARTE o 1 el INDUC TANCE VALUES IN MICROHENRYS UNLESS
bt : e FOLLOWED BY MH=MILLIHENRYS OR H=HENRYS




DA 2

5

C493 C493

c495
s T J4sl
c492
L483

\ C49I

N\

FILTER CAVITY

PA
FILTER

TWIST ENDS TOGETHER AND SOLDER

Wiring Diagram
PCWER AMPLIF IER
144-174 MC, 250 W
MODEL 4EF5B2

(19C303086, Rev. 0)




IN ORDER TO RETAIN RATED EQUIPMENT
PERFORMANCE, REPLACEMENT OF ANY
SERVICE PART SHOULD BE MADE ONLY WITH
A COMPONENT HAVING THE SPECIFICATIONS
SHOWN ON THE PARTS LIST FOR THAT PART.

PO #2 L485

F383 =
c487
4
PLATE CAVITY
vasl
Xv4sl
h 4cx2508-0R [ ]

c488 7032 /4cx2508| C488
NEUTRALIZER
P48l e, s P e e
R48! \| !|GRID2 (
4 C496 I Troo /1 __“'_I\ M
< c4a84 5 ot i |
b 1000 1_C497
21 l m T~ 5 L484_ 9|GRID | I
c483 T
1000 c48l L48B4 . I
32l I L i : ciRI:Y
2. cas2 L ( L482 ||| 7 | ¥
Lo 1000 T | FIL
! | |
< 7 §
L] | L 1
| - =
|
I
|
|

P4g2 I |
. |
—— —

PA P A
GRID PLATE




C493 C494

N l o
TB48I
I 2
= o Q
=
<
===
L483 —
K482
PR W—
:Y[ A P2
RG-8/U

REFLECTOMETER

—

|
r
|
|
|
I
| |
| XE48I
| = | ————— | =
| — S
— eSS
| e e 1
|
I
| CRI
| N S Rl 7 ¥
100
| \ C49l 9
| \ N
1000
| FILTER CAVITY H:mv
: | E4sI =
] — JI  RED
PA PA
COUPLING FILTER

Elementary Diagram

250-WATT POWER AMPLIFIER
MODEL 4EF5A1, 144-174 MC

(C-5494558, Rev. 6)




SEE APPLICABLE PRODUCTION CHANGE
SHEETS IN INSTRUCTION BOOK SECTION
DEALING WITH THIS UNIT, FOR DES-
CRIPTION OF GCHANGES UNDER EACH
REVISION LETTER.

THIS ELEM DIAG APPLIES TO

(T

MODEL NO REV LETTER
4EF5AI
PO #2 L485 P
!
f388 =
c487
PLATE CAVITY
vasl
XVa4sl
| 4cx2508-0R ['"
c488 7032/4cx2508| C488
NEUTRALIZER "
P48I 481 v ![eriD2l 1/
R48I | |GRID 2 {
W__ I 1
4 ca84 5 T ' 8 ! |
i 1000 L_c4
3| I t4si o i T T . |
1 ca83 |
1000 cas LAt CATH
3.2-12 —il2.4,68 | G R
) | CAVI®
21 c482 ( L4s2ll 7] A
Py 1000 | L |
| ¢ l |
L] | L |
|- =
P482 |
|
|
|

PLATE

bl




:I IN ORDER TO RETAIN RATED EQUIPMENT
PERFORMANCE , REPLACEMENT OF ANY
SERVICE PART SHOULD BE MADE ONLY WITH
A COMPONENT HAVING THE SPECIFICATIONS
SHOWN ON THE PARTS LIST FOR THAT PART.

C493

C494

c495

1

N

c492

L483

N\, €49l

N\

|
|
I
|
1
|
|
|
1
|
|
|
|
|
|
|
|
|
|
|
|
!

FILTER CAVITY

J48l | 2
N Pl . ; o] q}

REC
A

E?FLECTOMETEEJ

XE48I
e | ——— e |
S N\
— S
h—ﬂ

CRI

RI A

100

cl
| 1000

R2 4700

_VM

E48I -

——

P A PA
COUPLING FILTER

_ )

Ji RED

Elementary Diagram
144-174 MC, 330-WATT
POWER AMPLIFIER
MODEL 4EF5A1, REV, A

(C-54Y4558, Rev., 7)




PUALH AMPUIFIRE 103000 W
MODEL 1EF7A
REV 2
. o N G E DRAWING
SYMBOY DESCRIPTION
& PART NO
DATTIORS
EE Voriabie, Gy 18 paates, Uod te 32 amfd, L 749008 pl
o gap tLeth, Tweleradio
#T-din
a2 . @it o R CR PR
Lo vasilat e
IS I R R At
st T
[

s
asd

[t

o ltage. b
L Zimiar

: ER TR

Amsonnly

ey Condac o

Board

Veramic Bushine

Wislotr e neliee

Foveaiai

§or Waslisy an

N EN

Serew =

LoeiLer. PA Plate, Paormg

I

IO e B T FE
GLaBusan. ud, G 2uieg i
win By :
Set Forew Lo Vi )
Shadt A= nches foun
SEartc o DL TRusinenes Dons ,
Sel serews #8 .
Control Kaob
T R I A TR i
P Eal mraeie e r et
Seb ACrewD s s
snd
Gateol Koob
et
WAtz
Vaviin, Serews #8 7
A i Plate 2
Tofion Plat
ULy Comdc .
Ny oo Heasite i
#i i
Covaiiv Busning :
F shor; #6 5
Capred tor, Stuad=Grt
WYadstily
Co3UTUW LR u
Wasloor o &4 1
Waslbior: #1 5
al 2
um Plate 2
Tefiot Plate 2
Nylond #asher 2
Nat: # 1 2
Capacigor, Stand-0ff:
Machine Sorew. #6
Plaivc W 1er . 48
Uit Conductor
Rox
Pefion Biate
Aluwinum Pilate
Nylon® washer
Tersinad
Crpamic Bushing
Fiore dasher: #6
Nut o #6
Filver mica, CMLD casc; 5.0 mofd ¢ L3, Giv v
d-c w. Flectro Motive Mfg. Type CM-17.

MoT RN -T2

Pio e ais
Vi intie by

LIS -

A dnnnani-pg

A g
NEUiepln
NE By e
NG
A- 0 22-p)
AT LDy

[

-l

Nl g

AN D= P

B ia

NYI-PIGUILG

A JUI069T -

PR DERTUIRES

Cm B ubt e Bl

A H0523T DY

SHAGZEG
Bl

1529
3alisp
7-Pls

ERRIn
N
AEENEIN
ERTIE RNt

EPRI S
S

A HO2RRU-DL
A= 37
N2 /Py

NE1-PLS0EE
NADL PG
PL-L4005 177G
PLEBAMI26-61
AT O2URYL -PL
A-1020642-P1
A-1035237-p1
K= 87526710
M- 1PuIB-Pld
A-Tsinanzep]
N2G7-Pi3

P-3Rig2- P27

SYMBO;

& PART MO

|
;
]
|
|
|

Y-

nint Ret oot
S lE W
¢ i Capat Fueed thr i o
O | w Mictda Dreweiopent
BANL-URE Divceser, fovpwanc s fes Type iX
EARG 1 Test pornt
P L E

g

[y 1

HE T
Lani
i

HF cnnhe oo

capositioa,

ompon st

S S BT O

Gt

Gl Rtvie 7

ch, Dyequenes ranie Tot LBt
Ganrie Cat. gl

e Crtotand wean

onen G Cunowniren: o
Gt tao ' M, g
Ghmte CLt aoia

FLICs
o LR

JRty
[EEN
ot v

|
HELE i

THbs

Yinl i

FSE .
and
KEA8 G- pr

VA8 1

Cumpia 100,

fetiect

1

Catines Loy
Amphcno
vat .
2-sections vt

Bocke

TERMTNAT noakd

Mty

Hi

Tk g i

trp

Foses

E Beasvmigv

vanle

me lded

714uy

LK

SECRETY

e e H
the

wing
pe b aides
Laxiu
vat. Ne
Pr-2in

2-piece
ERE TN
No

RGms U Cauie

fodiowiag with Xa4s8]

£ ORGERA
plated
anyg

g
Part

Dy

U, Bepin coancctions, cathode connectes
2, 4, 6 and B grounded te shell. includes
A4 by-pass capacitor EOSGG mmfd, 400 v

docow.
#3K-610

Samiiay MO

EERTS EE TN

tloukh Type

SR
Vanan, it
e

ERSRa

GE )R/\;/\/?N(}i1

|

H




FIG.| -PARTS BREAKDOWN: C492 THRU C495

®
TEFLON  PLATE
BOX

PLAIN WASHER

BUSHING
\TERMINAL <] C492

ALUMINUM ___— [
PLATE

#6 SCREW— in

- -
\K\‘# 6 NUTS(2)
T FIBER WASHER
L483
WAIHER TERMINALS (2)
# 4 L' WASHERS (4)
#4 SCREWS (2) # 4 PLAIN WASHERS(4)
ALUMINUM
/ LATES (2)
C493 Y24 ———TEFLON
ORI O AT 2
AND '''''''''''''''''' . SaTav et PL ES ( }
........... ORISR -
C494
NYLON WASHER
#4 NUTS (2)
TEFLON PLATE
i ' ALUMINUM PLATE
{PLAIN “ / TERMINALS (2)
:WASHE\ 3 ( / WASHER
B & /"~ WASH
: \\\\\\\\\\:s\\\\\\\\\\\.\

=
]nnnnununnnunnuu 1) (] cass
.#'6 SCREW ® \ TS#6 NUTS
NYLON/ | BUSHING
WASHER &

1

BOX

CHASSIS

RC-700




FIG. 2 - PARTS BREAKDOWN: C487, POl & PO2

PRINTED
WIRING

BOARD

INNER
CONDUCTOR

/ _ A
7/8"FIBER WASHER——— || _
172" FIBER WASH:ER J
#8 PLAIN WASHER

|
#=8 LOCK WASHER

CERAMIC
BUSHING

04@5 POI\

S
TERMINAL
PO2

TOP VIEW
T =<
+ + +
+ || ¢ ! : +
c487 .
i\ Y \( )
L & ’
#6 STUD
+ [ {—L— C485 +
%
|| POI
TERMINAL ——
+ + ~ FIBER WASHER (2) F
FIBER WASHERS(2)—" CERAMIC BUSHINGS (2)
#6 NUTS (3) PO2
il +
= A 5
REAR VIEW




L4813
(487 |
c495 J
q |
L] J4 81
| [ C4333
] vagl l —
L J '
XV a8l oA }

| — C p
| cC49I
| ) (_ )
|
| m—
| ) = d A q
-"_._ - v ] I . ] f

4
NEUTRALIZING \ ' ; ’ ‘ ’

PA GRID PA PLATE PaA COUPLING PA ANTENNA




VIEW AT "B"

e

¥ i ¥

,

PARTIAL VIEW AT A

Outline Diagram
POWER AMPLIFIER
144-174 MC, 250 W
MODEL 4EF5B2

(190402031, Rev. 0)



LB -3615

CHEDERING SERVICE PARTS

Each component appearving on the =chematic diagram is identificd by a
symbol number., to simplify locating 1t in the parts list. FEach component
is listed by symbol numbevr. {oilowed by its description and G-E Part
Number.

Service parts mayv be obtained from Authorized G-E Communication Equipment
Service Stations or through any G-E Radio Communication Eguipment Sales

Office. When ovdering a part, be sure to give:

1. G-E Part Number {for component
2. Description of part

3. Model number of equipment

4. Bevision letter stamped on unit

These instructions do not purport to cover all details or variations in
equipment nor to provide for every possible contingency to be met in
connection with installation. operation or maintenance.

Should further information be desired, or should particular problems
arise which are not covered sufficiently for the purchaser's purposes,
contact the neavest Hadio Communication Equipment Sales Office of the
General Eiectric Company.

=1




MAINTENANCE MANUAL
LBI-3615

Progress s Qur Most Important Produvct

GENERAL @D ELECTRIC

COMMUNICATION PRODUCTS DEPARTMENT  LYNCHBURG, VIRGINIA
(In Canada, Canadian General Electric Company, Lid., 830 Lansdowne Rd., Toronte, Ontarie)

PRINTED IN U.5.A.

190E€-da

w P e




